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[Use a separate Answer Book for each group]

Group — A
Unit - |
. Answer any two questions of the following : (2 x5)

a) What is substance according to Locke?

b) Distinguish, after Locke, between Simple and Complex ideas.

c) Why does Berkeley introduce God in his philosophy? — Explain.

d) How does Berkeley refute the distinction between primary and secondary qualitites? — Explain
briefly.

. Answer any one question of the following : (1% 15)
a) Critically explain Locke's Theory of representative realism. (15)
b) i) Explain how did Berkeley refute abstract ideas.

ii) Is Berkeley's criticism totally acceptable? (10 +5)
Unit- 11
. Answer any two questions of the following : (2 x5)

a) "ldeas are copies of impressions™ — Explain after Hume.

b) What are the different types of scepticism, according to Hume?

c) What are the marks of a-priori knowledge, according to Kant?

d) Distinguish between analytic and synthetic judgements, after Kant.

. Answer any one question of the following : (1 x 15)

a) Is there any necessary connection between cause and effect? Explain after Hume.

b) "But though all our knowledge begins with experience, it does not follow that it all arises out of
experience" — Discuss after Kant.

Group—-B
Unit - |
. Answer any two questions of the following : (2 x5)

a) What do you mean by truth functional compound statement? Explain with example.
b) Explains with illustrations the paradoxes of material implication.

¢) What do you mean by tautologous statement form? Explains with an example.

d) If pv(gvr) is false, then what will be truth-value of (pvg)>(gqwvr)?
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6. Answer any one question of the following : (1 % 15)

8.

a)

i) Determine by truth table method, whether the following forms of propositions an tautogous,
self-contradictory or contingent. (2+2)

a) (pog=[pva)=d]
b) p>[~p>(av~0q)]

i) Test the validity of the following arguments by truth table method : (3+3)
a (GvH)>(G-+H)
~(G+H)
~~(GvH)
b) Mv(Ne~N)
Mv~N
S~MvN
iii) Is it possible for an invalid argument form to have a valid substitution instance? Explain with
an example. (5)
b) i) Determine the truth value of the following by the method of resolution : 2
(pog)o[(@>r)>(p>r)]
i) Test the validity of the following argument form by the method of resolution : 3)
po(a>r)
P>q
Lpor
iii) Determine by fell swoop method whether each of the following schema implies the other : (2.5+2.5)
p>q,  p>(qvr)
iv) Determine by the method of resolution whether the following schemata are equivalent : 3)
p>(qer) , (p>0q) « (por)
v) State any two rules of resolution. 2
Unit- 11
Answer any two questions of the following : (2 x5)
a) Distinguish between rules of inference and rules of replacement in connection with formal proof for
validity. ()
b) Explain with example the rule of Existential Instantiation (EI). 5)
c) i) What is normal form formula? (2.5)
i) Give the equivalent normal form of the following : (2.5)
~ (@) [~ (Mx v Nx)]
d) How can the invalidity of an argument be proved by the method of assigning truth values? Explain
with example. 5)
Answer any one question of the following : (1 x 15)
a) i) Construct formal proof of validity for the following arguments : (any three) (3x5)
a C=~C
S AvB
b) (X VvY)(XsY)
~(XVvY)
s~ (XeY)
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c)
d)
i) A)

B)

Socrates is mortal. Therefore, everything is mortal or non-mortal.
Oranges are sweet. Lemons are tart. Therefore, oranges and Lemons are sweet or tart.
Symbolise the following using quantifier, individual variable, etc. (4 x1.5)
a) Some foods are edible only if they are cooked.
b) Plato and Socrates are philosophers.
¢) No car is safe unless it has good brakes.
d) All except the previous winners are eligible for election.
e) Atall man is attractive if he is dark and handsome.
f) A boxer who wins if and only if he is lucky is not skillful.
Prove the invalidity of the following arguments by the method of truth-value assignment.
(any three) (3%x3)
a)  (AX)(Vxe~WXx)
(@X)(Wx e~ XXx)
S (@X) (XX e~ VX)
b) Cows and horses are mammals. Some animals are mammals. Some animals are not
mammals. Therefore, all horses are animals.
c) Only students are members. Only members are welcome. Therefore all students are
welcome.
d) (1«S)>(G-P)
[(Se~1)DA]-(ADP)
Io>S/..P
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